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Find, to the nearest minute, the size of ZRPQ.

In parallelogram ABCD, AB =19cm, AD =14 cm
and ZBAD=135".

Find, in its simplest surd form, the exact value of the
area of parallelogram ABCD.

The angle of elevation of the top of a tower D from a
point A is 27°.
On walking 120 m towards the tower, the angle of

elevation from a point B is 41 .

Given the points A and B are in line with the foot of
the tower C:

(a) draw a diagram to illustrate this information.

(b) find, correct to 1 decimal place, the height of the
tower.

Year 11 Trigonometry Test 2 - EX7. /)
1.
M
7. A hiker starts from point P and walks 8 km on a bearing
of 143°T to point Q.
54° 49° He then walks 12 km on a bearing of 292 ° T to point R.
P 8.5 em N (a) Draw a diagram to illustrate this information.
Find the length of MP. (b) Find the distance of R from P.
(correct to 3 significant figures) (correct to 1 decimal place)
(c) Find the bearing of R from P.
) (to the nearest degree)
X
o ., /7cm *8. To find the height of an inaccessible tower, the elevation
123 14 of its summit is observed from two points A and B
W 9cm Y which are on the same level as the foot of the tower.
. Find, correct to 1 decimal place: From point A, %ue south of the tower, the angle of
(@) the length of XW. elevation is 26 arild ffom pooint B, due east of the tower,
the angle of elevation is 34 .
(b) the area of triangle XYW. . The distance between the points A and B is 200 metres.
(a) Draw a diagram to illustrate this information,
(b) Show that the height, h, of the tower is given by
In triangle RST, RS =18 cm, ST=20cm and 200
TR =13 cm. h= .
\J cot2269 + cot?340
Find, to the nearest minute, the size of the largest
angle of triangle RST. (¢) Hence find the height of the tower.
(to the nearest metre)
In triangle PQR, QR =15.3 cm, PQ = 7.8 cm and -
b3
ZPRQ =23°40", 2.

A person walking along a straight horizontal road
observes the summit of a tower on a bearing of 056 O R

at an elevation of 13°.
After walking 1200 metres, the summit of the tower

bears 312_ 0 T, at an elevation of 28 0 .

(a) -Draw a diagram to illustrate this information.

(b) Show that the height, h, of the tower is given by

_ : 1200
\/ cot?13% + cot2280 — 2cot 139 cot 28% cos 1049

(c) Hence find the height of the tower.
(to the nearest metre)
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